VHDL &%t
AL

feF2Im: Ak

K. sK¥ESR 12020021013 HL 75 BRMFE 5HA

H5: B4E 12020021008 HL 5 BRI 5 HEA

5. 23 12020021003 HL 5 BRI 5 HEA

AL HREEE RS BRE S TS 2012 H 15 5
B SHAR

X ZHEAE . haikulou@qg.com



THE: 5 M VHDL 353 %Az, #47 T 8T, A Xilink ISE14. 6 373
TR T mik. A, AR
E4IT: VHDL; P4 AR, 60 itH 5 24 i #)

0.5

b5 R AR R R, BT T RED T E R R S 1%
IERAE DR, MhRem . AER. HBU/NIIIFER T MR RE . T IXFMEN,
A w2 A 0 IR R R MU TR R G 712 il dmAe 2 e 281
A B AR = FE B — 2 A g A s AR %
i T A2 AR B B A IR FE R, = 2 I AR i AR E BT IEDATT & L
BB R R AT v Y2 A S B B ARSI . EARSEIS R T AR
B IFPGA g feiB 4E ge 1k, 1% R 7 VHDLAERZFH AR 1E = fIXilinx ISE 14. 6FF K
Ao VHDLEEAF IR TE 5 72 T8 B3k (EDA) Ry E EE M. TR
H 7 BB ZZ R KRG DIRERRE /1) “BIim F” ( Top — Down) A& T
J# (L ibrary — Based) FI4s#iscit ik, ©AERHIRA1#E M T K& 4B L
VB, THEHRE J1 8 0 1 77 R 5 M-SR B L, B i Bk R 3 A 14 2% (1)
77, WA R & 7 W 80R, 4658 7 72 a6 I . Xilinx ISE 14. 642
LR T A TR TR, BE/ o TEMMAL/ 28 TEMXEHTE R LA
[P —FhEE B T AR, JE I %I R IR R AR 5 8 A 56 e v (R4 B 45 SR DA
AT S A G AR R AR A B I AR R R R o B B BT R LA
VHDLAE i 15 5 2 b3 T i fE

LR HER

SO B B R T TR AR A BRI . R R ST T
B, SR vhdl B S ARSIl TUESRA S B A . 2 B D |
Sy B SANTHSCR R, IS SR AR TR RS S, RO
HIEE LA 2 9 40 T SUBER IO N3 2, 43 T OB B 5 (5 5V A S B
SIS B, T SEIRSE AR OB B S L I

2. % R

TR B R B 2 60 HEMI TR, BRI AT DAE BT AN B U g —
SEATHIME. WL 24 RIS, TRLFE A 24 BEEIRE . R 52
G, 5 P B R 2 TR R e

2110 gr75Ta AR cantsixty



WS v R LN N0 e i i s g Aol il e VAT A il A= R
B HACE] 9 I A ALt —, RN MIEZNEE. JHA0d® 5 IFH
VAT el = E2vi i i i VAL SP 71 1V o VA 7| NS P B =00 T e
H VHDL 8 5 25 BRI B FIRE Fr it B

library ieee;

use ieee.std_logic_1164.all; CantS|Xty

use ieee.std_logic_unsigned.all; SERRERENS FYEREEEEEEE
entity cantsixty is N

T

port(clk:in std_logic; o eutI@O

reset:instd_logic, .
outl:out std_logic_vector(3 downto 0);
out2:out std_logic_vector(3 downto 0);
c.out std_logic);
end;
architecture beh of cantsixty is
signal ss1,ss2:std_logic_vector( 3 downto 0);
begin
pl:process(clk,reset)
begin
if(reset="0")then ss1<="0000";ss2<="0000";
elsif(clk'event and clk="1")then
if ss1="1001" and ss2="0101" then c<="1";
else c<='0";
end if;
if ss1="1001" then ss1<="0000";
if ss2="0101" then ss2<="0000";
else ss2<=ss2+1;
end if;
else ss1<=ss1+1;
end if;
end if;
end process p1;
outl<=ssl;out2<=ss2;
end beh;
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library ieee;

use ieee.std_logic_1164.all;

use fecetd_logic_unsigned.al; U hourtwenty - -

entity hourtwenty is I e I
. . cesE—elk oI @0) -
port(clk:in std_logic; R RS R DR
. . e a— foo. . eEyE—- -

reset:in std_logic; :.'::::.':::r'e?%'J """ qu"("']'::::.'::::.'::

outl:out std_logic_vector(3 downto 0);
out2:out std_logic_vector(3 downto 0));
end,;
architecture beh of hourtwenty is
signal ss1,ss2:std_logic_vector( 3 downto 0);
begin
pl:process(clk,reset)
begin
if(reset="0") then ss1<="0000";ss2<="0000";
elsif(clk'event and clk="1"then
if ss2="0000" or ss2="0001" then
if ss1="1001" then ss1<="0000";

§52<=5852+1;



else ss1<=ss1+1;

end if;

end if;

if $52="0010" then

if ss1="0011" then ss2<="0000";
$s1<="0000";

else ss1<=ss1+1;

end if;

end if;

end if;

end process p1;
outl<=ssl;out2<=ss2;

end beh;
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library ieee;
use ieee.std_logic_1164.all;



use ieee.std_logic_unsigned.all;
entity cantsixty is
port(clk:in std_logic;
reset:in std_logic;
outl:out std_logic_vector(3 downto 0);
out2:out std_logic_vector(3 downto 0);
c.out std_logic);
end;
architecture beh of cantsixty is
signal ss1,ss2:std_logic_vector( 3 downto 0);
begin
pl:process(clk,reset)
begin
if(reset="0"then ss1<="0000";ss2<="0000";
elsif(clk'event and clk="1")then
if ss1="1001" and ss2="0101" then c<="1";
else c<='0";
end if;
if ss1="1001" then ss1<="0000";
if ss2="0101" then ss2<="0000";
else ss2<=ss2+1;
end if;
else ss1<=ss1+1;
end if;
end if;
end process p1;
outl<=ssl;out2<=ss2;
end beh;
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library ieee;

use ieee.std_logic_1164.all;

use ieee.std_logic_unsigned.all;

entity hourtwenty is

port(clk:in std_logic;
reset:in std_logic;
outl:out std_logic_vector(3 downto 0);
out2:out std_logic_vector(3 downto 0));
end;

architecture beh of hourtwenty is

signal ss1,ss2:std_logic_vector( 3 downto 0);



begin
pl:process(clk,reset)
begin
if(reset="0") then ss1<="0000";ss2<="0000";
elsif(clk'event and clk="1"then
if $s2="0000" or ss2="0001" then
if ss1="1001" then ss1<="0000";
§82<=582+1;
else ss1<=ss1+1;
end if;
end if;
if $52="0010" then
if ss1="0011" then ss2<="0000";
$s1<="0000";
else ss1<=ss1+1,;
end if;
end if;
end if;
end process p1;
outl<=ssl;out2<=ss2;

end beh;
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library ieee;

use ieee.std logic_1164.ALL;
use ieee.numeric_std.ALL;
library UNISIM,;

use UNISIM.VVcomponents.ALL;

entity shifenmiao is
port (clk  :in std_logic;

reset : in std_logic;
fenl :out std_logic_vector (3 downto 0);
fen2 :out std_logic_vector (3 downto 0);
miaol :out  std_logic_vector (3 downto 0);
miao2 :out  std_logic_vector (3 downto 0);
shil :out std_logic_vector (3 downto 0);
shi2 :out std_logic_vector (3 downto 0));

end shifenmiao;



architecture BEHAVIORAL of shifenmiao is

signal XLXN_1 : std_logic;

signal XLXN_2 : std_logic;

component cantsixty

port (clk  :in std_logic;

reset :in std_logic;
c ;out  std_logic;
outl :out std_logic vector (3 downto 0);
out2 :out std logic vector (3 downto 0));

end component;

component hourtwenty
port(clk :in std_logic;
reset :in std_logic;
outl :out std_logic_vector (3 downto 0);
out2 :out std_logic_vector (3 downto 0));
end component;

begin
XLXI_2 : cantsixty
port map (clk=>XLXN_1,
reset=>reset,
c=>XLXN_2,
out1(3 downto 0)=>fen1(3 downto 0),
out2(3 downto 0)=>fen2(3 downto 0));

XLXI1_3 : hourtwenty
port map (clk=>XLXN_2,
reset=>reset,
out1(3 downto 0)=>shil(3 downto 0),
out2(3 downto 0)=>shi2(3 downto 0));

XLXI_4 : cantsixty
port map (clk=>clk,
reset=>reset,
c=>XLXN_1,
out1(3 downto 0)=>miaol(3 downto 0),
out2(3 downto 0)=>miao2(3 downto 0));

end BEHAVIORAL,;



